Eu ropean Scenario
Pacific-related Events

1939

15 Atlantic transports; 5 I/O transports; 5 at large; 5 unbuilt; 3 I/O transports must ship oil to India throughout the
1939 | Start game.

The U.S. initial naval air training rate is 0. The U.S. may build up to four CVEs per turn, subject to tensions.

One 3-4 Canadian infantry unit may be NRed to Europe.

One South African 3-4 infantry unit and three South African 1-3 infantry units may be NRed to Europe.

1939 | Fall One Indian 2-3 infantry unit and one Indian 1-3 infantry unis may be NRed to Europe.

One Australian 1-3 infantry unit may be NRed to the Mediterranean.

The U.S. must not use 1 Atlantic heavy SBP, but pays 3 BRPs towards its use in the Pacific.

1939 | Win The U.S. must not use 1 Atlantic heavy SBP, but pays 3 BRPs towards its use in the Pacific.

1940
1940 | YSS Britain receives 40 BRPs for its Asian colonies.
1940 | Spr The U.S. must not use 1 Atlantic heavy SBP, but pays 3 BRPs towards its use in the Pacific.

The U.S. must not use 1 Atlantic heavy SBP, but pays 3 BRPs towards its use in the Pacific.
When USAT=10, the U.S. mobilizes 1 SBP, but no other units (these are assumed to go to the Pacific).

One 3-4 Canadian infantry unit is added to the Canadian force pool.
One 2-3 Australian infantry unit may be constructed and NRed to the Mediterranean.

1940 | Win The U.S. must not use 2 Atlantic heavy SBPs, but pays 6 BRPs towards their use in the Pacific.
1941

Britain receives 40 BRPs for its Asian colonies.
The U.S. receives one additional RP.

Britain must spend 3 BRPs to construct Australian units.

One 4-5 Canadian armor unit is added to the Canadian force pool.

The U.S. must not use 2 Atlantic heavy SBPs, but pays 6 BRPs towards their use in the Pacific.

The U.S. may use 1 Pacific light SBP in the Atlantic, at no cost. Cash and carry/lend lease limits apply (27.7322).

Britain must spend 3 BRPs to construct Australian units.

Britain must send the following naval forces to the Pacific: BB4 (fast), BC3.

The U.S. must not use 2 Atlantic heavy SBPs, but pays 6 BRPs towards their use in the Pacific.

The U.S. may use 1 Pacific light SBP in the Atlantic, at no cost. Cash and carry/lend lease limits apply (27.7322).

Britain must spend 3 BRPs to construct Australian units.

Both the 2-3 and 1-3 Australian infantry units must return to the Pacific.

1941 | Fall The U.S. must not use 2 Atlantic heavy SBPs, but pays 6 BRPs towards their use in the Pacific.

The U.S. may use 1 Pacific light SBP in the Atlantic, at no cost. Cash and carry/lend lease limits apply (27.7322).
Russia may SR one 3-5 armor unit, two 3-3 infantry units and 1 AAF onto the European mapboard from the Urals.
Britain must spend 3 BRPs to rebuild Pacific losses.

Britain deducts 7 BRPs for the loss of its Pacific colonies and the British resistance level is reduced by one.

The British BB4 (fast) and BC3 sent to the Pacific are eliminated.

1940 | Sum

1940 | Fall

1941 | YSS

1941 | Spr

1941 | Sum

1941 | Win | Britain must send the following naval forces to the Pacific: 2 CVL, 4 NAS, 5 BB3, CA2, DDL.
The U.S. must not use 3 Atlantic heavy SBPs, but pays 9 BRPs towards their use in the Pacific.
The U.S. may use 1 Pacific light SBP in the Atlantic, at no cost. Cash and carry/lend lease limits apply (27.7322).
1942
1942 | vss Britain receives 10 BRPs for its remaining Pacific possessions (Dacca and Calcutta).

The U.S. receives three additional RPs and one additional DP.

Britain must spend 3 BRPs to rebuild Pacific losses.
1942 | Spr The U.S. must not use 3 Atlantic heavy SBPs, but pays 9 BRPs towards their use in the Pacific.
The U.S. may use 2 Pacific light SBPs in the Atlantic, at no cost.

Britain must spend 3 BRPs to rebuild Pacific losses.

1942 | Sum The U.S. must not use 3 Atlantic heavy SBPs, but pays 9 BRPs towards their use in the Pacific.

The U.S. may use 2 Pacific light SBPs in the Atlantic, at no cost.

Britain must spend 3 BRPs to rebuild Pacific losses.

1942 | Fall The U.S. must not use 3 Atlantic heavy SBPs, but pays 9 BRPs towards their use in the Pacific.

The U.S. may use 2 Pacific light SBPs in the Atlantic, at no cost.

Britain must spend 3 BRPs to rebuild Pacific losses.

The U.S. must not use 3 Atlantic heavy SBPs, but pays 9 BRPs towards their use in the Pacific.

The U.S. may use 2 Pacific light SBPs in the Atlantic, at no cost.

In addition to any normal mobilization, the U.S. mobilizes 15 BRPs of units, assumed to come from the Pacific.

1942 | Win
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1943

1943 | YsS Britain receives 10 BRPs for its remaining Pacific possessions (Dacca and Calcutta).

The U.S. receives five additional RPs and two additional DPs.

Britain must spend 3 BRPs to rebuild Pacific losses.

1943 | Spr The U.S. must not use 3 Atlantic heavy SBPs, but pays 9 BRPs towards their use in the Pacific.
The U.S. may use 2 Pacific light SBPs in the Atlantic, at no cost.

Britain must spend 3 BRPs to rebuild Pacific losses.

1943 | Sum The U.S. must not use 3 Atlantic heavy SBPs, but pays 9 BRPs towards their use in the Pacific.
The U.S. may use 2 Pacific light SBPs in the Atlantic, at no cost.

Britain must spend 3 BRPs to rebuild Pacific losses.

1943 | Fall The U.S. must not use 3 Atlantic heavy SBPs, but pays 9 BRPs towards their use in the Pacific.
The U.S. may use 2 Pacific light SBPs in the Atlantic, at no cost.

Britain must spend 3 BRPs to rebuild Pacific losses.

1943 | Win The U.S. must not use 3 Atlantic heavy SBPs, but pays 9 BRPs towards their use in the Pacific.
The U.S. may use 2 Pacific light SBPs in the Atlantic, at no cost.

1944

1944 | YsS Britain receives 10 BRPs for its remaining Pacific possessions (Dacca and Calcutta).

The U.S. receives five additional RPs and three additional DPs.

Britain must spend 3 BRPs to rebuild Pacific losses.

1944 | Spr The U.S. must not use 3 Atlantic heavy SBPs, but pays 9 BRPs towards their use in the Pacific.
The U.S. may use 2 Pacific light SBPs in the Atlantic, at no cost.

Britain must spend 3 BRPs to rebuild Pacific losses.

1944 | Sum The U.S. must not use 3 Atlantic heavy SBPs, but pays 9 BRPs towards their use in the Pacific.
The U.S. may use 2 Pacific light SBPs in the Atlantic, at no cost.

Britain must spend 3 BRPs to rebuild Pacific losses.

1944 | Fall The U.S. must not use 3 Atlantic heavy SBPs, but pays 9 BRPs towards their use in the Pacific.
The U.S. may use 2 Pacific light SBPs in the Atlantic, at no cost.

Britain must spend 3 BRPs to rebuild Pacific losses.

1944 | Win The U.S. must not use 3 Atlantic heavy SBPs, but pays 9 BRPs towards their use in the Pacific.
The U.S. may use 2 Pacific light SBPs in the Atlantic, at no cost.

1945
Britain receives 10 BRPs for its remaining Pacific possessions (Dacca and Calcutta).

il The U.S. receives five additional RPs and four additional DPs.
Britain must spend 3 BRPs to rebuild Pacific losses.
1945 | Spr The U.S. must not use 3 Atlantic heavy SBPs, but pays 9 BRPs towards their use in the Pacific.

The U.S. may use 2 Pacific light SBPs in the Atlantic, at no cost.
If four atomic bombs have been used against Japan, Japan surrenders.

Britain must spend 3 BRPs to rebuild Pacific losses.

The U.S. must not use 3 Atlantic heavy SBPs, but pays 9 BRPs towards their use in the Pacific.

1945 | Sum The U.S. may use 2 Pacific light SBPs in the Atlantic, at no cost.

If three atomic bombs have been used against Japan, Japan surrenders.

Capacity of the Siberian grant route to Russia is reduced to 5 BRPs due to war between Russia and Japan.
The U.S. must not use 3 Atlantic heavy SBPs, but pays 9 BRPs towards their use in the Pacific.

1945 | Fall If two atomic bombs have been used against Japan, Japan surrenders.

Use of Pacific light SBPs in the Atlantic ends, unless Germany is still fighting.

Britain’s Pacific spending ends unless Japan is still fighting.

U.S. Pacific spending ends, unless Japan is still fighting.

In each of the first three turns after Japan surrenders, the U.S. may re-deploy from the U.S. Pacific box, to the
1945 | Win Atlantic box, the following units for use in Europe: Ten AAF, two 1-3 Marines, three 3-4 Infantry, three CVs with
three NAS each, two BB4s, three DDs.

If one atomic bomb has been used against Japan, Japan surrenders.

Capacity of the Siberian grant route to Russia is restored to 10 BRPs unless Japan is still fighting.

1946

Britain receives 10 BRPs for its remaining Pacific possessions (Dacca and Calcutta).

1946 | YSS | 11 U.S. receives five additional RPs and five additional DPs,

1946 | Spr If no atomic bombs have been used against Japan, Japan surrenders.
1946 | Sum

1946 | Fall
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